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Answe. al1 questions Tilne: fi'uee llouN

l. (i' whJtisnecnlbl manrgerirl Jeii ior.problcrr". lxplrin nrLh.rrirrble
examples from profit and l1on-proht organizations

, (05 Mark,

(ii) Explain the relationship bet\\,een Managerial Ecor,onrics and Ecoliomic Theory
and decision science.

(iii) Explain basic managerial decision process wilh a diagram.

rivt Slrou thc dillcrentialion rulcs ol rhe follo'r ing fr-netions
(a) Constant function rule
(b) Product f:nct,o |ule
(c) Quotient funclion rule

(05Mar ks)

(05 Marks)

2. (i) What is Dem.iid Eslimation? Why is it so inportant iD the business decisiorl
making offirms and other cnterprises?

(05Marks)
(ii) ANA company is a producer of chocolale. It l]ires an economist to determine

the demand fbi its product. After a month the economist tclls dre company that
the demand for film's product is given by tl're following functio|r.

Qa = 12'000 - 500 Pa + 5Y + 500Pc

Qa: Dcmand for ANA cltocolates
Pa = Price ofANA chocolates
Y = Per capita Income
I'c: Price ofother ploducers

Now the manager olthe conpany wants to

a. Determine what a pricc inctcase woukl have on tolal revenue ofthe
. firm?

b. How sales ofchocolates would cirange du ng a period of rising
income?

c. Asses the probable impact ifconpelitors raise thcir pdce ofptoducts.

(Assume that the idlial values ofPa. Y, Pc are 5/-, 10,000/- and 6/ respectively)
(15 Marks)



3. Suppose that a firm uses inputs ollabour {L) and cdpital (K) l"rrp':li::. ]l:
.ui,i,rt ( Otaccordjng to the produclion tunction Q l0L-""K""'aabourrs
naii anhourlv wage tate ofRs 25l- and the rental prrce ot capllal ls Ks o r'rr-

ih" nr.4".ia"". tell its outpul al lhe price olRs l0

i. Using approp ate Lagrange method, find the optimlun level of the

11.

11.

labor and caPital

Calculate the proftt level at this stage

Distinguish between the followings

(08 Marks)

(02 Marko

( I 0 Marks)

a.

b.

Homogeneous Products and Ploducr di flerenl iation

Marginal cosl curve and lirm's snpply cuwe

4." i. Wlat do you understand by the term "Business forecasting"? List out the
" inrp"n*l" 

"isusiness 
forecasting in managerial o"",rton .*tnu,o, 

oo*or,

Suppose that following table shows the quarterly sales of compr'tter D€vice of

firm in Japan

Devi '000sce n

Yeat Quafier I Ouarter 2 Ouatter 3 Ouarter 4

2006 20 32 62 29

200'/ 2l 42 75 31

2008 21 39 1',1 48

92 53
2009 27 39

a.

b.
c.

d.

calculate the trcnd ofsales using least squares method

iiii.ur" tt't" =ut.s 
oi"ach quaier using lrend equation

i;l:;i;;"'i;";;;;,"g" "-iurion 
ot 

"'u"r'' 
quart;r's acrual !ales rrom the

estimate
Estimate the forecast for each quarter'

(15 Mark9



5. Consider the following iDfomation for a produclloD rulil

A sflall factory ploduces two types of toys: caIS and diggers Ll the

manufactuling process two machines are used: the moulder and the

colouriser. A digger needs 2l,ours on the mouidel and t hour on tlle

colouriser. A car leeds i hour on the moulder and t hour on tlle colouriser'

The moulder can be operated for 16 hou$ a day and the coiouriser for t hours

a day. Each digger gives a profit of 116 and each car gives a profit of f,14'

The proht needs to be maximized '

Formulate the LP Model for this problem

Using simplex method,
interpret lour answer

find the maximum

(05 Marks)

level production and

(09 Marks)

(06 Markt
ii. Obtain the maximum proilt level

*+* **********,1*** *


